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A. Mencari Faktor Distribusi

Titik 1
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B. Menghitung Momen Primer
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C. Tabel Perhitungan

(-4.8) + (-1.48) + 13.24 = 6.96
(-17.73) + (-0.59) + (-0.7102) = -19.030

6.96 -19.030
Titik A 1 2
Batas | A1 | 1A | 1B | 12 | 2-1 2-C
" -0.442 | -0.354 | -0.204 | -0.434 | -0.565
MomenP| 4.8 | -48 | -1.48 | 1324 | -17.73| -0.59
Tahap 1 | -1.5388 | -3.0776 | -2.4621-| -1.4203 | -0.7102
41367 | 8.2736 | 10.7565
Tahap 2 | -0.9146 | -1.8292 | -1.4633| -0.8442 [ -0.4221
-0.0917[0.1835 | 0.2385
Tahap 3 | -0.0203 | -0.0405 | -0.0324| -0.0187 | -0.0094
-0.0020 | -0.0041 | 0.0053
Tahap 4 | -0.0004 | -0.0009 | -0.0007-| -0.0004 | -0.0002
-0.0004 | -0.0001 | -0.0001
Total | 233 | -9.75 | -5.44 | 544 | -10.41 | -5.44
0 0
B
B-1
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-1.2310
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D. Gaya Luar

i=3,2 t/m
Ma1=2.33 M1A=9.75
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M1 =0
Var.Lt - qi.Ls (Y4L1) + Mar + Mia = 0
Va4 - 3,6.4 (V44) -2.33 +9,75=0
Vad - 28,8 - 2,33 + 9,75 = 0
Var = 214ﬁ = 5,34 Ton (1)

SMA =0

ViaLt + qi.Lt (%5L1) + Mia - Ma = 0
Vind + 3,6.4 (44) +9,75-2.33=0
Vard +28,8+9,75-2,33=0

Var = % = 9,06 Ton (1)

Kontrol:
Var+Via-qi.li=0
534+9,06-36.4=0
14,4-144=0
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V.6,5 - 3,6.4,5 (724,5+2)-4.2-15,19+ 10,41 =0
6,5V - 68,85-8-15,19+10,41=0

Vi = % = 12,56 Ton (1)
SM1 =0

-Vai.L2 + P2.a + gr.a (Y2a) + M2i - M. = 0
-V21.6,56 +4.4,5 + 3,6.4,5 (724,5) + 10,41 -15,19=0

-6,5V21 + 18 + 36,45 +10,41 - 15,19=0

o= 4987 7 64 Ton (1)
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Hei.Hz - Pi.c + Mei + Mie = 0
He1.4,5-3.25+0,13+5,44 =0
4,5He1 -7,5+0,13+5,44=0

Ha: = % = 0,43 Ton (<)
SMB =0

-He.Hz + Po.d + Mie + Msi =0
-He1.4,5+3.2+544+0,13=0
-4,5He1 +6 +544 +0,13=0

Hue =—'1_1:g7 = 2,57 Ton (<)
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E. Gaya Dalam
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0<x1=Ly

Mx1 = Var.X1 - qr.X1(¥2X1) - Mas

Dxi = Va1 - q1.x1

Mx: = HA

x1=0

Mai = 5,34.0 - 3,6.0(’20) - 2,33
=-2,33 Ton.m

Dm =5,34-3,6.0
=5,34 Ton

Nat = 7,17 Ton

X1 = L+ (4,00)

Mia=5,34.4 - 3,6.4('24) - 2,33
=21,2-28,8-2,33

=-9,06 Ton.m
Din=5,34-3,6.4
=-9,06
N = 7,17 Ton
Dx:=0
Vai - g1.X1 = 0
= Var
X1 = a1
_ 534 _
= _3,6 =1,48 m
X1 = 1,48

Me = 5,34.1,48 - 3,6.1,48(121,48) - 2,33
=7,90-3,94-2,33
= 1,63 Ton.m
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_V
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X1 = % =3.38m
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xi = 3,38

Mx1 = Viz.X1 - Q1.X1 (1/2X1) - M:2

Mu = 12,56.3,38 - 3,6.3,38 (123,38) - 15,19

=42,45 - 20,56 - 16,28
=6,70 Ton.m

0<x1<a

Mx1 = Viz.x1 - Q1.1 (VaXx1) - Ma2

Dx1 = V12 - qi.X1

Mx1 = Hqz

x1=0

M2 =12,56.0 - 3,6.0 (20) - 15,19
=-15,179 Ton.m

D+« =12,56 - 3,6.0
=12,56Ton

N+ = 5,76 Ton

X1 = a (4,50)
0 =12,56.4,5 - 3,6.4,5 (124,5) - 15,19
= 56,52 - 36,45 - 16,28

= 4,88 Ton.m

Do =12,56 - 3,6.4,5
=-3,64 Ton

No = 5,76 Ton

0<x,<b

Mx2 = V21.X2 - M1

Dxz = -V

Mxi = Ha

x2=0

Mz = 7,64.0 - 10,41
=-10,41 Ton.m

D2 =-7,64 Ton

Nz = 5,76 Ton

X2 = b (2,00)

Mo =7,64.2 - 10,41
=4,87 Ton.m

Do =-7,64 Ton

No = 5,76 Ton
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My: = Hea.y1 + M1
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Mec=-46.2+34
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F. Diagram Gaya Dalam
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